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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Political Science
Paper III

SIIMHA
wyufEeRT 111

Time Allowed : 2% Hours]
Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A YeUIehd THY geee’ (75) sguaEll U9 fooiel ofed. Udish U9l &M (2)

O FRA. WE WY e

[Maximum Marks : 150

1. Give the correct answer by using the

codes given below :

(1)

(2)

(3)

There is a strong element of
historicism in normative

political theory.

The empirical political theory is

value neutral.

According to post-behavioura-
lists study of politics demands
explanation and not mere

description.

Codes :

(A)

(B)
(®);

(D)

(1) is correct, (2) and (3) are

wrong
(1), (2) and (3) are wrong

(1) and (2) are correct, (3) is

wrong

(1), (2) and (3) are correct

arefl fooiean gshageiten 9 &

I TR A ;

(1) HeAger (STeYaRl) USHhT

fagider sfagrarerm=n dial g9e

TR

~

(2) SHVEER TShig fagid geafae

TR

(3) TR syfTshamEamar=ar #d T4
AT ekl U Fog R TS0l
T ST

Q’Eﬁﬂ'{fzﬁ :
(A) (1) s 3R, (2) 9 (3) I 38
B) (1), (2) 9 (3) I A

(C) (1) 9 (2) SR 3T, (3) T 3T
D) (1), (2) = (3) S AR

[P.T.O.
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The basic difference between
Gandhi’s theory of Satyagraha and
Passive resistance is :

(A) Satyagraha stands for truth
and non-violence passive
resistance agrees with it

(B) Unity of ends and means

(C) Both draw inspiration from the
Irish practice

(D) Both agree to follow non-violent
methods till sufficient strength
is acquired to take recourse to
armed struggle

Give the correct answer by using the
codes given below :

(1) Inability of behavioural
political theory to give correct
answers to contemporary social
problems reduced its appeal.

(2) Resurgence of Neo-Marxist
ideology after the escalation of
the Vietnam war encouraged
revival of Political Theory.

(3) Positivism and historicism
greatly helped revival of
Political Theory.

Codes
(A) (1), (2) and (3) are correct

(B) (1) and (2) are correct, (3) is
wrong

(C) (1), (2) and (3) are not correct

(D) (1) is correct, (2) and (3) are
wrong

DEC - 15313/111

Hamg 3T 9375 gfaerrr=an meisi=
fFgadial J&9 ®ieh =N

(A) FEWE 9 9 AfeH= TEhR &,
e iR Sered ggaa TR

(B) @reA offur e Al TR

(C) TaRe gfdehRmamA <renet 9o
et

(D) &3 quwiardt 8 9 fhagdd
S oIfeds TIY [Ehd 3Ted
Trefl fodien Fhaye=n I &

AT WA :

(1) TEI™=A1 9IS J9er AT 3wl
IO SIS TG]
TSTeh g Tagar=n g9e T STe.

(2) fuam o= diadl JeeaH @
Jo-AedaRe] foar sifue gurd
FTEATAAT SR ta fagTarsa
qTEsSiea gicdred fHesrar.

(3) genedae 9 gfdewere A=A
sTen i TaGTar= gaessioq™ A

e
Hehaqel :
(A) (1), (2) 9 (3) ==X 3R
(B) (1) 9 (2) SR A o (3) =k 38
(C) (1), (2) & (3) IR I
(D) (1) == 3R, (2) 9 (3) Feh 3T




PS(zFever.#

Which one of the following pairs is

not correctly matched ?

(A)

(B)

(©)

(D)

Classical — Maximisation
Liberalism of Individual
Powers
Modern — Maximisation
Liberalism of Individual
Profits
New — State Interven-
Liberalism tion
Revisionist — Welfare State
Liberalism

Which one of the following concepts

is not borrowed by Marx from

Hegel ?

(A)
(B)
(®))

(D)

The theory of Alienation
Theory of surplus value
The concept of Dialectics

Philosophy of History as process

of change

DEC - 15313/111
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SERATAE ST ST
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(B) YfTeh — Sl ST
SHAAIY SITE 9 9T
gro

(®);

(D)

T IERHTAE — TSIl &8y

UNUERT — HedUhR] T

EEICREI

EeATeAdeh] hIVAT HehoUr=l HIRA

hed Wihd wedl AW ?

(A)

(B)

(®))

(D)

e dETEl faga

(el

st Jearn fagrd

o oN o
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Which one of the following

statements is not correct ?

(A) The majoritarianism was
inherent in the principle of the
greatest good of the greatest

number.

(B) The hedonistic calculus of
pleasures and pains bridged gap
between mental and physical

pleasures.

(C) The utilitarians compromised
with the basic principle of
liberalism when they advocated

strong reformist state.

(D) The utilitarians rejected theory

of natural rights as untenable.

Which one of the following ideas was

not expounded by Lenin ?
(A) Imperialism

(B) Democratic Centralism
(C) Dictatorship of Proletariat

(D) Socialism in one country

DEC - 15313/111

Gk HI0d fag@ sheR AT ?

(A) ST SITEd TR STRd S fed

T dld SgHETeE Ayd 3.

(B) 9@ 9 g:@r=A1 IU4rER! fHdges
AT & MRS Famdie Sa HH
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Mao Tse Tung wrote an essay “On
Historical Experience of Dictatorship

of Proletariat” to defend :

(A) The Chinese concept of peoples

democracy
(B) Cultural revolution

(C) Stalin against Khruschev’s

attack

(D) Marxist philosophy from social

imperialism

According to Plato Philosophers

should become the Kings because :

(A) they organise communism of

family and property
(B) they know the idea of the Good

(C) they head the state which had

three class society

(D) they are recruited from the class

of guardians

DEC - 15313/111
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10. Which one of the following

11.

statements is not correct ?

(A) According to Aristotle,
Constitution is an arrangement
of political offices that
determine who should rule.

(B) A state in which equals rule and
are ruled in turn is state based
on rule of law.

(C) According to  Aristotle
democracy is the best form of
government.

(D) According to Aristotle, philo-
sopher king is theoretically
possible but practically
impossible.

Give the correct answer by using the
code given below :

(1) According to Machiavelli, the
Prince must be strictly empirical
in his political analysis.

(2) According to Machiavelli, a
man who wishes to make
profession of goodness in every-
thing must come to grief among
people who are not good.

(3) Machiavelli prefers authority to
power because raw power is
ineffective.

Codes :
(A) (1), (2) and (3) are correct
(B) (1), (2) and (3) are wrong

(C) (1) and (2) are correct, (3) is
wrong

(1) is correct, (2) and (3) are
wrong

(D)

DEC - 15313/111

10. WIeiiddeht kg faam sk A& ?

11.

(A) ffE=teer=n 7 TSTee € TSThi
SAfeRRueT= 3737 SHawe 3T STd
I T Hd § Al .

(B) <1 U1 SId GHM 3Tf¥ehR 3TRd
T T HAd aug el TF shad
A I hEE T RN,

(C) SIfEtea=a 7d <yl 8 gaid
Il T YR 3R,

(D) siftefea=a1 wd dgifamgse
T TS B9 I 3T’ 9T
FagRd: d I TEl

Erellal fooiean Fehag==n 9 e

Iqg WA :

(1) Hhisgal=a Hd SATIeAT {STeh
fogctoona s quia:  sTwafTss
Tfgal difest.

(2) Helegel=a Hd Sieel T G
STeId . ANCTIuI=T STUE &l ST
Tl el AnTel AHeiedl  HIUHTEAT

HYehid Sdl degl ol Bdeiel ardl.

(3) Wehioeel Tauel AR WIem= <a
HIOT YIRTET G IR RS T9d.

Hehage

(A) (1), (2) 9 (3) ST ed

B) (1), (2) T (3) Ih AR

(C) (1) (2) s 3ARd 9 (3) ek 3118
(D) (1) SR 3., (2) o (3) Ieh ARd
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Which one of the following

statements is not correct ?

(A) For Hobbes, morality and self-

interest are one and the same.

(B) Hobbes has transformed

classical natural law theory in

naturalistic ethics.

(C) It pretence to believe that
constitutional rights really limit

the power of government.

(D) Hobbes advocated two stage

theory of social contract.

Which one of the following pairs is

not correctly matched ?

(A) Thomas Hobbes—Felicity

(B) Rousseau—General will

(C) Locke—Unlimited Government

(D) Bentham—Utilitarianism

12.

13.

DEC - 15313/111
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(A) Biss=a1 Ha Afdedar 9 w@fgd B

TETe SR,

(B) ®fes1 stfysma Aafifes swrg=men

faga SR J9fifer e

el

(C) FeATHe AfISHR Y= 91 waifed

HIAE 3TH1 fovemy 399 ATcHS =

TR

(D) ®Bfes™ S TUATdIA TTHIfSTeh Shr

GeAledeh! IO STl AT YhR
Jeoael  ATer ?
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14. Give the correct answer by using the

code given below :

Assertion (a) :

According to Mill, it is better to be
a human being dissatisfied than a

fool satisfied.

Reason (r) :

The fools know only their own side
of question and other party in

comparison knows both sides.

Codes :

(A) (a) is wrong and (r) is correct.

(B) Both (a) and (r) are correct and

(r) is the answer of (a).

(C) Both (a) and (r) are correct but

(r) is not the answer of (a).

(D) Both (a) and (r) are wrong.

14. Gl

DEC - 15313/111
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15. Arrange chronologically political | 15, TH.UA. ¥ Ir=N TSHT TREdAT
transformations of M.N. Roy : FIAFAHER THage aTTeT e
(1) Young militant revolutionary in 0

Bengal. ) )
, . , (1) STl %0 G Shifdeheh.
(2) Chief of radical Humanist party.
(3) A member of the Comintern in (2) Tewe e e TH@.
Russia. (3) WM FHFE STEA (HifHe)
(4) Advocate of New Humanist I .
Movement. - -
(4) THMEETR IR
Codes :
(A) (1), 2), (3) and (4) e
(B) (1), (3), (2) and (4) A (1), (2), 3) 9 (4)
(C) (1), (4), (3) and (2) B) (1), 3), (2) & (4)
(D) (4), (2), (1) and (3) © 1), 4, 3) T (2)
16. Which one of the following D) @), 2). (1) 7 (3)
statements is not correct ? T
AN A NN a 9,
(A) Sri Aurobindo Ghosh rejected 16. Cleid! H1d e T
the moderates’ policy of prayers (A) 3Tfeie =Y it HEd Helresa qreHT
and petitions. g Sifacare dNU S el
(B) He provided religious fervour ) i
and the spiritual basis to Indian (B) % s
(C) He was Gandhi’s predecessor as (C) gatear=ar fagrarsar «ed d
far as theory of Sarvodaya was H. M qEgd S
concerned.
D) @@= s gfaerr=n fagrm
(D) His theory of passive resistance D) . =
was accompanied by the policy TeAfRTET=A ROTHIE AIS T
of self-development. el SR,
11 [P.T.O.
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Which of the following statements

IS not correct ?

(A) Military is an institutionalised

political structure.

(B) Legislature is one of the

structures of Rule Making.

(C) All rule-adjudication functions
are performed by the judiciary

alone.

(D) Bureaucracy is a major

structure of ‘Rule-Application’.

Which among the following
approaches are exclusively con-
sidered as traditional approaches to

the study of comparative politics ?

(A) Historical, behavioural and

legal approach

(B) Institutional, neo-institutional

and structural-functional

approach

(C) Philosophical, historical and

institutional

(D) Group, systems approach and

elitist approach

17.

18.
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GATcIdehl hiod faegM aek e d

| ?

(A) TRy & GEiyd TSR HE
e,

(B) ®CHSe 7 famHfHdr om==n
(C) wd frm-frofae = & o

SEEEIE IR UTed 3T,

(D) -ehemel & fremmn SR s

el AT 3R,

TTedeh! I AATETTIH greeh

3 dterf e TSRS ST

%hacs JRUMG gieh UH Slese

Sfard ?

ufdeifaes, ad-ar snfor Senfaew

TLATTHE, Ta-HLTcHE  ATf0T

(A)

(B)

TR - hTIaE] eI
difares, Ufdefas enfor e

e, FaEIER! A AfSHaR!
HE=cau

(®)

(D)
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20.
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Which among the following
characterises the distinct feature
of Marxist version of constitu-

tionalism ?

(A) doctrine of non-committed
judiciary
(B) doctrine of ‘limited government’

(C) doctrine of democratic centra-

lism
(D) doctrine of natural rights

Which among the following is

not the feature of British

constitutionalism ?

(A) Doctrine of Supremacy of the

Parliament

(B) Doctrine of Responsible

Government

(C) Territorial division of power
between central and the

provincial government

(D) Doctrine of representative

democracy

19.

20.
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Eeicdeh! hIvd o & SEATAR=A

ATeRfeS] W SHesgeh T R
T A5 2
(A) | Sfeerh dwd 7 W0

I

(B) ‘waifed v’ d<a

(C) AThIMEl hgder™ a<
(D) Agfifer AR T

Wefterdent vt =rel gt foifest s

SfiTeT RUA WAl IUR AT ?

(A) = IS aYd

(B) SeEQR IMEF g a<d

(C) wifder omfor Hegedt IMETEE=
AR IR w-faursH

[y

(D) wifafafaer <lienymea a<
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22.
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Judicial Review is a process by which

courts :

(A) can initiate a legislation

(B) can dismiss the constitutional

head of the state

(C) are in a position to rule upon
the propriety or legality of action

of the legislative and executive

branches of the government

(D) can overrule the judgement

given by the lower courts

Which one of the following countries

is an oldest federation ?

(A) Switzerland

(B) Canada

(C) Australia

(D) India

21.

22.
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o N o

=TT GAfdeleRr=i gfshan WSl <1

U <Eed

faS o ulaY

hTIe AfHd

(A) & ITehdld

(B) TSI HEAIcHS FHEE UgHd he

Mehdld

(C) IMIATHEA=IT FHTISHASS ATf0T

RIS EM heled TR il
T ST el qURE @R ol

CERETIN

(D) T8 A el e

& ehdld

TIeTedeh! IV TERST § Haies A

Mg ?

(A) Tacrts
(B) A<l
(C) sireferan

(D) R4
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Which one of the following American
Presidents had warned of emergence

of military — Industrial Complex in

USA ?

(A) W. Wilson

(B) D. Eisenhower
(C) H. Nixon

(D) L. Johnson

Which among the following pairs is

correctly matched ?
I II

(A) U.S. Senate and House

of Commons

(B) U.K. House of Lords

and National

Council

(C) Switzerland Council of States

and National

Council

(D) India Senate and House

of People

23.

24.

DEC - 15313/111

ETATATRT I TR e
ASH - 3TN - fedHer = IeaT= 39
feeft Bt ?

(A) I8! faee
(B) €t TR
(C) wa. e

(D) feied St=a
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25. What is Gerrymandering ?

26.

(A) A concept in the American

Presidential election process.

(B) Name given to decisions given

by justice Gerry in USA.

(C) Name given to purposeful
demarcation of constituencies so

as to benefit those in power.

(D) Name given to a process in

American financial system.

The doctrine of Separation of Powers
given by Montesquieu had to great
impact on the making of the
Constitutions of the countries. These

are :
(A) Britain, USA
(B) USA, France
(C) Germany, Britain

(D) USA, Canada

25.

26.

DEC - 15313/I11
SdeftT’ wuS w1 ?

(A) Hftt U= fas®

yfradies T Hehoud.

(B) STR&RT =t S At ferean

~

=TETerR e

GEICH

(C) TUHed ATAIE HEY 3

I T AASREETAT AUy

Hmfyaiomg oo A mE.

(D) 3THftent foxia Ao Geiferd Tent
Yfera AE.

o o N

gfauriceiean FxrfayrsHr=an

qidh

Tl QF QMR U J9E el d

Hivd ?

A) foed, 3@
(B) 9. TH.T., %A
(C) S, fre
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27. Which of the following countries did | 27. @effeidsl HITAT IINA 1990 THa
not have any political party till qeagdl Aeadt ?
1990s 7 (A) e
(A) Venezuela B) =
(B) Egypt (C) Wt sRfa
(D) Laos 28. 'UHAUGRIGHA ThIME’ B IEE FAN
28. The term ‘transitional democracies’ QTATTdh! HIvC TSlEei=al Gevd
refers to the regimes : hell Sl ?
(A) in post-colonial polities of the (A) TorR gf¥=dt SATTdiel Semgdiaehles
non-western world B2 E2ELSl|
(B) that show incomplete signs of (B) woh3meren faa=an @A eI
democratic  consolidation S te e 1S [ | IR N IS CE G TS O
following the third wave of drehemel et feer 9 wufeq |
democratisation a1 gon feEdd
(C) in the newly born Afro-Asian (C) 1950<a1 T¥ThId Af&dcard  3irelel
states of 1950s TSI ARSI Tse-Tsd
(D) in the newly industrialising (D) =M SAreifieRter g s
countries USRS CE
17 [P.T.O.
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30.

PS(zFever.#

In parochial political culture :

(A) People are not aware of the

existence of political culture.

(B) People have ample oppor-
tunities to participate in

political process.

(C) People are not aware of the
distinction between political and

non-political aspects of life.

(D) People are aware of the
existence of political structure
and process but do not feel like

participating in the process.

Weber’s theory of charismatic
authority can be successfully

employed to :
(A) regimes of developed countries

(B) regimes of underdeveloped
countries that are facing

revolution of rising expectations

(C) regimes of traditional societies

(D) none of the above

29.

30.

DEC - 15313/111

HRfad TS F&hdl WUl :

(A) T AfTEd ST TSTeh ™

HEATE 9 THAlL

(B) <o UShita gfswaa ggwm

B0 o deft ST

(C) kil USehtg emfor femrRastn i

ST iR 9F 94,

(D) R TSTh A FEAT 3T

g Yfhdd 9 STHd 90T A 9eYri

=g dred el

ST TR SAfeE=n fagrd e

FEIH FHYRIU AN HIAT dsal 7

o N o

(A) faorfad <M TTTTET

(B) dT@cal STH&T=l hid! ST Hau=a

foeRgasiiel SIMA TSI

(C) IRURer FHSTAIA  TaEe]

(D) 0TS RIvEl el

18



31.

32.
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In a subject political culture people
prefer to remain passive observer of

the political process because :

(A) they are totally ignorant about
the political authority and

institutions in the system

(B) either they fear the con-

sequences of political participa-
tion or they feel that their
participation is bound to be
ineffective

(C) they are politically apathetic

(D) they are illiterate

Which one of the groups of the

following political parties have a

regionalist agenda ?

(A) Shiv Sena, DMK, Samajwadi

Party
(B) AGP, Shiv Sena, Akali Dal
(C) NCP, AGP, TDP

(D) TDP, NCP, Samajwadi Party

31.

32.

DEC - 15313/111

ATAfRT UIHTT WEHATHET ik

TSTeh T ishad HeWIl B0 3Tcqeh

AT shXOT @

(A) T TSR FA-93=A=l 3for

e hIEr Hifed! THd

(B) USThIE HeUN=AT T TROmH=T

M Teha? ofidl amed fomen aAm9em

TN RO BIUR ATl 319

T HAHE ded 3TEd

(C) d USThIagsSl A STHAw

(D) 1 fReR e19aa

EcATedeh] ShIOTeT USTeh i GeT=a T

YYITSS TSTehId hrdshd 378 ?

(A) @, ShuAs., gASER! 98
(B) W.SH.9T., foe@m, o1l T
(C) W&, wsidt., e

(D) S, LW, THESERT e

19
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33.

34.

35.
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Which one of the following books

was written by S.N. Banerjea ?
(A) A Nation in the Making

(B) The Ramayan : A True Reading
(C) Hindutva

(D) The Evolution of Provincial

Finance in British India

‘Karachi Charter’ was a forerunner

of :
(A) Federalism
(B) Communal Electorate

(C) Directive Principles of State
Policy

(D) Fundamental Rights

With regard to Fundamental
Rights, which one of the following

statements is correct ?

(A) They are absolute

(B) They are not restricted

(C) They are not natural rights

(D) They cannot be suspended

during national emergency

33.

34.

35.

DEC - 15313/111

TE.TA. S Teladeshl v J&ih
el ?

(A) 31 9 3T T HfewT

(B) & Tmmwr : I g ffen

(C) fég=

(D) € UATEYYE "M% Wifcarymaa
A 3 fafesr gfean

‘T A T Wi e Jagd
I ?

(A) TR

(B) ST HAASRYH
(C) HFiesi®
(D) HAYd Bh

foge | g ?

(A) d HalE STRd

(B) I=ATeR s¥q AR

(C) d Hfifer TRk AT

(D) TS STEOi=A Fledld d & el

SRR E T

20
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36. Which one of the following books | 36. WIciicilsh] =hIvcal YT WRATH U Teh
described India as a ‘soft state’ ? ‘g Ty T ol R ?
(A) Asian Drama (A) m T
(B) Politics in India . .
(B) Uifetfee® g sfeam
(C) Who Wants Democracy .
(C) § dleH SHIehHT
(D) India’s China War ]
(D) Efears =T AR
37. Which one of the following issues
was addressed by Dinesh Goswami 37. ctletient e
Committee ? forsame se et ?
(A) Panchayati Raj Institutions (A) U= TS HEAl
(B) Welfare of Minorities (B) Toqd&ad fea
(C) Electoral reforms (C) ﬁw RO
(D) Anti-terror measures (D) eeydere fodiet SarEism
. hich he followi - .
38. Which among the following states 38 wreedEl T USAT TIPS
has given 50% representation to .. .
8 v rep W 9] Afea T 50% SR
women in local self-governing
o oot o ?
institutions ?
(A) Gujarat A) T
(B) Maharashtra (B) &R
(C) Kerala (C) *Xe
(D) Assam (D) E™
21 [P.T.O.



39.

40.
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While moving the objectives
Resolution, Nehru compared it
with which other country’s similar

resolution ?

(A) American Declaration of

Independence
(B) Glorious Revolution of England
(C) Russian Revolution
(D) French Revolution

Give the correct answer by using the
code given below :

Assertion (a) :

Directive Principles of State Policy,

though unjusticeable, are an

innovative provision for guiding the

state in policy making.
Reason (r) :

They are therefore referred to as

‘instruments of instructions’.
Codes :

(A)
(B)

(@) is true but (r) is false.

Both (a) and (r) are true and (r)

is correct explanation of (a).
©)
(D)

(a) is false but (r) is true.

Both (a) and (r) are false and
(r) is not correct explanation
of (a).

39.

40.

DEC - 15313/111
SfeerHadEr 3Ud Higd ST 1. Te&]

ATl IVl QIMCTel ST Tl

Hell ?
(A) TR AT SEIAH

(B) TSl dvERNel hid]

(C) ¥ TsFshid

(D) = TSIl

Ereft fooiean FehayeE=n i HEd
g W AW

faam™ (a) :

S TSI SRuIfSIeh ANiesieh fagid
YA, TIIU TH qd d TS
gl fAfHde Ariee ot Arfarm=rgut

Q. 2Te.

<l (r) :

WMes M &Rl faoees  Arfesiared
g WO Ad.

Hehage

(A) (@) IR ARG T () Tk TS

o LN

(B) (@) @ (r) ® T &R 3Rd 9 (1)
¥ (@) T I7T TR AR

(C) (o) I& 38 TT (r) SR 3.

(D) (a) 9 () & = =H R 9 (1)
¥ (@) ¥ I79 TSR0 e

22
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of political parties or movements can R R
RERAER] Fooded HHUA Id 2
be described as separatist ?
A) G faaReM 2, 3.5 0ol T
(A) Khalistan Liberation Army, &) SRR
JKLF (B) S, AR faeRe™ et
(B) TDP, Manipur Liberation Arm .
P Y (C) derTHl U |iHdl, BRd geel
(C) Telangana Rashtra Samiti,
D) SI.UA.TA.TH. 07 S
Harit Pradesh D) SRR ¢
(D) GNLF and ULFA 42. TIeliadsh! HIv SISl I THR
42. Which one of the following pairs is Sesdedl Y ?
correctly matched ? , < <
(A) BT wIESIIM : AR
(A) Indian Constitution . . .
AR T wE—fea sifie
Cornerstone of a Nation—
Granville Austin (B) whifufeT gaforets—ssey 1o
(B) Competing Equalities—W.H. AifE s
Morris Jones . . v "
(C) TTAde 3T Ulfdfead M
(C) Government and Politics of .
gfear—3imn g9 9 T
India—Zoya Hasan, et al
D) gfeam fafen wifeegym—ae
(D) India’s Living Constitution— D)
Marc Galanter A
23 [P.T.O.



43.

44.
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Which one of the following Articles
in Indian Constitution changes the
country from federal to unitary
government and is invoked to
protect ‘the security of India’ from
threats of war, external aggression

or internal disturbances ?
(A) 352

(B) 355

(C) 356

(D) None of the above

For which one of the following
objectives, the National Develop-
ment Council, comprising of Chief

Ministers, was set up ?

(A) to endorse the Central

Government’s decisions

(B) to evolve a single development

model

(®)

to review and recommend social

and economic policies

(D) none of the above

43.

44.

DEC - 15313/111

TR TIEET=A] @eicideh]  ShIoTea

SHOTHTTER WA 5, TLhIa SThHT ol

ST TSTedl AT TLETT HIuATHIS

TR TESIY Thicd Sa1d ®UTa

HLOIE] TIE Hhedl 3 ?
(A) 352
(B) 355
(C) 356

(D) IUATRT RIvEl el

TTeiteTdeh! hIvel SfEser=a1 qatard]

AEIHAATAT GHEY STHAAl UL

foshrraieog T Hvad STell ?

(A) SheEe=n o A= <o

(B) HaHar= foermd gfaam foerfag s

(C) mraifss 9 errfefe  envon=

qRIEeleh= h{0l o e RTRRE

ETU

(D) TR RIvEl el

24
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45. Demand for separate state of Harit | 45. w@refieiiesh! hiven U&= 929 ©
Pradesh was primarily made by IS T T FIOIE qEOn el
which one of the following political a2
parties ?

(A) g9 TS Te
(A) BSP
(B) HHNEE 98
(B) Samajwadi Party
(C) U™ e T
(C) Rashtriya Lok Dal
(D) s Sl g
(D) Biju Janta Dal
46. TA-AHITEAIA I JEcTush! Th
46. The philosophical base of New
AR :
Public Management is :
(A) et s fagr
(A) Public choice theory
B) SR T
(B) Welfare-state orientation (B)
(C) Democratic socialism (C) TIFRA! HHSAR
(D) Nationalisation (D) TSR
25 [P.T.O.



47.

(@

®)

(©

d)

[PS(zFever.*

Match List I with List IT and select

the correct answer by using the

codes given below the list :

List 1

Scientific Manage-

ment theory of

organisation

Human Relations

theory

Ideal type of

Bureaucracy

Decision-making

theory
Codes :

(@ ()
Aa 6 @
B @ @
©c @O @
M @ @

.y

@)

3)

4

List II

Herbert Simon

Max Weber

Elton Mayo

F.W. Taylor
) (@
1 @)
2 @
4) Q)
4) (@

47.

(@

®)

(0

d)

DEC - 15313/111

et T 9 et 11 wefied A Siresn e
A=A Tiel! feoied GehagaayA A
W et -
et 1 et 11
FETEl WS (1) @& WHEA
e g
el Hey fag (2) "o 9
AR seR 3)  Toed wAl
TR
o freior fag @) TR, &R
Hehage :

@ & © @
@a 6 @ QO @
® @ & @ O
© @O @ @ O
™ @ & @ O
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48. The term ‘Committed Bureaucracy’

49.

50.

means bureaucracy committed to :
(A) the political party in power
(B) the prominent political leader

(C) the principles laid down in the

constitution
(D) the minister concerned

The Comptroller and Auditor
General of India is described as

guide, philosopher and friend of :
(A) Assurance Committee
(B) Estimates Committee

(C) Committee on Public Under-

takings
(D) Public Accounts Committee

Which of the following is a stuff

agency in India ?

(A) The Cabinet Secretariat
(B) Health Department

(C) Education Dept.

(D) Agriculture Dept.

48.

49.

50.

DEC - 15313/111

‘gfaag TRRIE! RS S AR Eel

qEaisl THtAr gfaag SAwae

RIETNIFIE

(A) TIfyfSsd TSTehig 9&l

(B) W=l UStehid e

(C) TSTEEAdd d<

(D) wafyd wit

RarET a9 AT @raiaTRT

Jeidl Uehl Wi AFeeis, dw@d o
fys "o 9 Sa S

(A) STRIEA gfEdr

(B) e |t

(C) HeSITer 3UshH Gt

(D) Hrasieh o Fia

WIeAeAUeh! SV Teh WRATde] RIS R
AfYRTo 3R ?

(A) TfIHes gfuac
(B) ¥ @

(C) fweror =md

(D) ¥t @

27
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51.

52.
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Principal criticism on Max Weber’s
theory of bureaucracy is that, it

ignores :

(A) rational aspect

(B) functional aspect

(C) informal aspect

(D) formal aspect

Which of the following statement
is correct as regards Planning

Commission of India ?

(A) The Finance Minister in the
Chairman of the Planning

Commission

(B) The Dy. Chairman is a full time

member

(©)

There are no full time members

(D) There are no ex-officio members

51.

52.

DEC - 15313/111

T Jo=a AhWel fageR s

SR el U @ Jeid TRl Uohe

gad H@l
INR =
(B) wries Ue]
(C) =i U]

(D) 3= e

TRATSAT AT AARTEa et qEierdeh!

HIUG TH faue ssw e ?

(A) 1T FISHET ST 37Tl

Tl

(B) 3IWHAY QU GHER STl

(C) IV YUlced WS Ll

(D) SIUMAE UEfEg HIYEE 994l

28



53. Which are the basic principles of

54.

PS(zFever.#

Riggs’ model ?

(1) Comparative

(2) Ecological

(3) Structural-functional

(4) Developmental

Codes :

(A) (1), (2) and (3) are correct
(B) (2), (3) and (4) are correct
(C) (1), (2) and (4) are correct

(D) (1), (3) and (4) are correct

The strategies of economic liberalism

include :

(A) More investment in public

sector

(B) Greater reliance on market

mechanism

(C) Increasing scope of industrial

licensing

(D) Increasing govt. deficits

53.

54.

DEC - 15313/111

o (aV

st grear=il gayd d<d Jeidl gl

ed

(1) qorTS
(2) TITEOMHE

(3) T=ATCHS: - hTIcHS

(4) foemrmrcTs

Hehage :

(A) (1), (2) T (3) IR ARA
(B) (2), (3) T (4) SRR T&d
(C) (1), (2) T (4) R ARA

D) (1), 3) T (4) SRR e

3T IIRIALOT=A T geial Teer=n
qHEY Al

(A) HESH® &3 Al Jaauh

(B) 9NIR IO 31f¥reh  3Tacied

(C) A=NfTer A==l Sl aredul

(D) TMEHE T A1V

29

[P.T.O.



55.

56.

57.
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One of the features of development

administration is that :

(A) It has participative emphasis
(B) It stresses rules

(C) It emphasises regulatory work
(D) It emphasises centralisation

One of the features of public

bureaucracy in India is :

(A) Specialist pattern of
administration

(B) Generalist pattern of
administration

(C) Technocratic administration

(D) Scientific administration

“Good Governance” includes one of

the following :

(A) Absense of government
(B) Minimum government
(C) Effective government

(D) Maximum government

55.

56.

57.

DEC - 15313/111

faetd gomEaa qeid Ts dfyrsew
BN

(A) TN HEYFMeR 9T 379ql

(B) d fEHieR w 2d

(C) d fams wEfer W 2d

(D) T HIHWMR R <A

o~ = N

RIS TeSieh AlenRlleld @éﬁl@

BN :

(A) TIRIoFIUE IMEAIRR

(B) TAHIERUE Y IMEAYhR
(C) I9H WM WIImEA

(D) IMERLS I=MEA

G-I Feed Yeletdehl TehTdl Siayrd
gl
(A) IMEAT=TN A9

(B) foumM Imaq

(C) URuMHhRe M

(D) AT IMEA

30
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58. Women’s empowerment in local

governance was one of the important

features of :

DEC - 15313/111

58. TIfeh IMETTIAd HfgaT TITRIR Il

T YAl Tl FeAgeRd AT

(A) 73rd Amendment to the ey o1
Constitution
(A) 73 FEAGEKI
(B) 74th Amendment to the
Constitution (B) 7470 S
(C) 83rd Amendment to the (C) 83dt ‘qﬁw
Constitution
(D) 854 HEAGHEI
(D) 85th Amendment to the
Constitution 59. WEEUUN foRre WET YEiciish! THIEX
59. Th Neh i del f
e ehruvian mode 0 T
development is based on :
A N [a}
(A) Democratic socialism (A) TIHRTE! FHIET
(B) Socialism (B) GHNAR
(C) Secientific socialism
(C) I FHNER
(D) Withdrawal of state from
economic activities (D) i *'qfq\ﬂ Ul tlﬁd’\'
31 [P.T.O.
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60. Which of the following is not a

61.

distinctive feature of 73rd

constitution amendment ?
(A) Assignment of subjects

(B) Two-tier system of Panchayati

Raj Institutions
(C) Fixity of tenure
(D) Provision of finances

Select the correct chronological

order of world events :
(1) Cuban Missiles Crisis
(2) Beginning of New Cold War

Nuclear Non-Proliferation

3)
Treaty

(4) Disintegration of the USSR

Codes

A) (1)—3)—(2)—(4)

(B) (4)—1)—(2)—(3)

(C) B)—1)—4)—(2)

D) (2)—(38)—(1)—4)

DEC - 15313/111

60. 733 FSAGEEIT JEicTueh! iU Th

61.

TR Jftre e ?
(A) fawaren iy

S TN

(B) 9=t Uear=n fead A

(C) TAfy=ad wremash

(D) foxitar T2

@il =21 ey forar :

(1) gl QI G=yET

(2) A Tdggr= geard

(3) AUIE YENSE! HiK

N o

(4) wifgtd I faee

(A) (1)—(3)—(2—4)

(B) (H—(1)—(2)—3)

(C) B)—1)—(4)—2)

D) (2)—3)—(1)—4)
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62. Predominantly diplomatic and | 62. ¥98 ¥UIH® O TR 3¢9 T4 TUH
economic post-conflict action taken VIR ST STIT0T S SHRUATETSt
to rebuild governmental infra- HATT e TSR e s
structure and institutions in order N
$dlcl h1d WU ?
to avoid a relapse into conflict, is
referred to as : (&)
(A) Peace making (B) IMRETT
(B) Peace keeping (C) TCdTIETa
(C) Peace enforcement (D) STdar UM
(D) Peace building 63. TR AR o= foare o
63. The Maritime dispute over Sir Creek T WA se ?
is between : (A) SRT—=IAR
(A) India—Myanmar (B) T
(B) India—Pakistan .
(C) YRd— gfietent
(C) India—Sri Lanka )
(D) YRA—TTeARE
(D) India—Bangladesh
64. STAASIT e G G & hea
64. Who coined the idea of “soft” power .
IV GUH HiSAl ?
in international relations ?
(A) Robert Kohn (&) T e
(B) Joseph Nye (B) T
(C) Andrew Linklater (C) T fefsheieX
(D) John Vasques (D) SiH dwEH
33 [P.T.O.
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66.
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Which are the three important

principles of the Gujral Doctrine ?

(A) Non-interference, reciprocity
and denying any role to extra-

regional Powers in South Asia.

(B) Non-interference, non-recipro-
city and important role to extra-

regional powers in South Asia.

(C) Non-interference, non-recipro-
city and denying any role to
extra-regional powers in South

Asia.

(D) Subtle interference, reciprocity
and importance to extra-

regional powers in South Asia.

Long Cycle Theory, Power
Transition Theory, Diversionary

Theory are all related to :

(A) Armed conflict between and

within states

(B) Changing character of military

power

(C) Ecological security

(D) Theories explaining effects of

Globalisation

65.

66.

DEC - 15313/111

o Sffae=t = "ewarn aw
HId ?

(A) THYY T HO, W GIIiTdn
affor feed T . SR
TE 9 <0

(B) TH&Y A IO, TR FATa=r
T A RO SN Qs(ered G
Q. SAIYTATd HEward T 9@
Ul

(C) LT T HLO, WER TR
AWE 7 0 A0 sered WA
. MMM T&E 9 <O

(D) UM TEAY, TER FEAIMTar o
SeTeled Tl <. A He<ar
TE F@A 0

A e e, uler It faerd,
TS fuerd, a1 gaf=sn g9y
Welicdeh! HImet 3 ?

(A) STAERIMTT qaT SIMavid I

el

(B) @yl Foold oQcld &Y
(C) TAieRuiE et

(D) STTfashiRTom= gftoms ATSom
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68.
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®)

(c)

)
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Which of the following correctly
states the factors leading to the end
of the Cold War ?

(A) Disintegration of the Soviet
Union, Collapse of Communist
regimes in East Europe

(B) Disintegration of the Soviet

Union, formation of the WTO

Collapse of Communist regimes
in East Europe, defeat of Iraq
in Gulf War 1991

Formation of the WTO, defeat
of Iraq in Gulf War 1991

Match List I with List IT and select
the correct answer by using the
codes given below the lists :

(®);

(D)

List I List II
UN intervention lead- (f)  East Timor
ing to independence

UN intervention to (@) Cambodia
end conflict and

restore peace

Unsuccessful UN (@)  Yugoslavia
intervention

UN failure toactto  (fv) Rwanda

end ethnic strife

Codes :
(@) b) (c) (d)

A) Gv) G G 6

B) G @G @ G
© @ O @) @)
M @ G @) Gv)

67.

68.

(@)

®)

()

d

DEC - 15313/I11
INagS FAvATE STeierdeh! ot ol
JMed ?

(A) wifged g faeed, g gaunde
L qSeel™ Yo

N o

(B) wifgwd gfraa foeed, smfdeh
AR T T

(C) 98 IUUe wHfTe Toaeiy
o, 199141 ST Gt sehal
EUSE

(D) STfdeh STIR GeeA=n LY,
1991=AT SATET JFIatel ZLh=l
EUSE

IS 1 9 ARt I Tefie A Sien aed

AT Tiel! fSied Fehag=ayA A

IR faer .

et 1 I
Gt TSI Bal- ®» 9o foR
ST TTAITA
e HOSA Thidan @) TS
AU XTI
TR o TEAE
BRESRUEIRC e O e Ul R
ESSEE
YT SEH qEGUA- (Gp)  TATSl
ISl et HIoAT FIFH

AT 3Tl 37990
Q’Eﬁﬂ'{{ﬁ:
@ b)) © @

A) Gv) @) @G 6

B) Gv) @ @ G
© @ o G @
M @ @ G (o)
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69. Which of the following statements

is correct ?

(A) The UN-mandated multilateral

forces helped overthrow
Mubarak regime in Egypt in

February 2011.

(B) The Gulf Co-operation Council
intervened in the crisis in Egypt

to bring about a change of

regime in February 2011.

(C) Pressure from the US and the
NATO brought about a regime
change in Egypt in February

2011.

(D) People’s revolt overthrew the

government of President

Mubarak in February 2011.

DEC - 15313/111

69. WIcciUeh! hival fagM e e ?

(A) Hgard 2011 AY GRS

U TS ISl Shaaaeta

HollXeh {side Sal¥d clsh Ul Hd

el

(B) Thgardt 2011 A SieraHe T Tsiae

ICATITHIS! T hIATIEH hif-Hai

T el

(C) sl for A& A=A SeeTe

sSTaHY The@’l 2011 HY SO

EEHYIA

(D) SHdA 33 FHEA hgdrl 2011

Y e Yok TR SALT

Teha.
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71.
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What role did India play during the
political crisis in Maldives in
February 2012 ?

(A) Indian Navy helped President

Nasheed retain his power

(B) India helped ensure smooth

transition of power and

minimum violence

(C) India helped Vice President
Waheed Hassan Oust President

Nasheed

(D) Indian Government suspended
all diplomatic relations with

Maldives during the crisis

Which of the following statements

is correct ?

(A) India cannot stop importing oil
from Iran because it depends

heavily on Iranian oil.

(B) India has imposed embargo on
oil imports from Iran under US

pressure.

(C) India has opposed US sanctions

on Iranian oil.

(D) India has appealed to the UN
to lift the embargo on Iranian

oil.

70.

71.
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oG aHY @l 2012 HY HSaied
TSTeh 1 UAEMd A hIot YfHeRT
ES G

(A) RGN 7T A9 M A= Gl

fehauay Hed hell

(B) YRAM Hxekd AW Bsal 30
FHHiqedt fEm 8a e uifed

(C) 31eA8] efig M T BeAvATEIS

A IUTETE] difge g9 AT A
Egll

(D) TIYEMET RAH A [derisie]
Td TSHideh oY died

GATAYeh! Il faeg@ sRieR 378 ?

(A) WA 3UT AT S Aiele] ITehel

& RO Al R STeced 3.

(B) 1afish=a1r gamarene dr

UM I TATER Sgl =]
3TTE.

(C) 3Tafh=ar SO dared Sgrel
qRaH faliy sell SR,

(D) TUU=AT dASd oel SSATATEIS!

IRAH g Tihe Add sl
3Te.
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73.
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Which among the following
statements represents the official
position of India on the NPT ?

The Treaty is
because :

not acceptable

(A) it prevents vertical proliferation
but fails to prevent horizontal
proliferation

(B) it imposes restrictions on

underground nuclear testing

(C) it fails to prevent threshold
nuclear powers from making

nuclear weapons

(D) it prevents horizontal pro-
liferation but fails to prevent

vertical proliferation

What is Humanitarian Interven-
tion ?

(A) International intervention in a
state for a humanitarian cause,
even without the consent of the
concerned state.

(B) Intervention by a major power
in a state for a humanitarian
cause, even without the consent

of the concerned state.
©)

International intervention in a
state for a humanitarian cause,
only with the consent of the

concerned state.

(D) Intervention by a major power
in a state for humanitarian
cause, only with the consent of

the concerned state.

72.

73.
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ETcAteTdeh] ShIUA fIM  STUaEIERe!
HUUTTORAEl YR fger arg e
qred ?
B B ST 3T hIT
(A) G STITHYRT ST AT ST0ae
AT QIMAT vfasard AvaE
ITguaer ey A
@ i STUEETAEeR SE Sl
B B UGS IOl 3T

STee3 Traeiedl QM1 @A ae
h& ehd Gl

T TS e ST s
30 FaUIeR Y 3ed, W
SUTEHYR I STfeen efveE
FIUGIER g el

THEdER gaY WS HE 2

(A) TETRN <M HHadEs] HROMEE,
T HWefHd <YM WHAIEE
holell, ST g&aa.

(B)
(©)

(D)

TR <Y AFadreg! RS,
T HEfd Q9w iy,
TG Yod Q9 sholell g&aay.

TR <Y AFadreg! SRS,
e Gefad <Ml A shelell

TR <Y AFadreG! RS,
o3 TIMA holell BEI&T.

(B)

(©)

(D)
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75.
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Which of the following is an integral
part of India-US Nuclear Deal ?

(A) Capping the programme of
developing nuclear weapons
and accept FAEA restrictions

unconditionally.

(B) Protecting the self-sufficiency of
Indian nuclear programme by

signing the NPT.

(C) Separating civilian and military
nuclear reactors and bring the

civilian reactors under IAEA.

(D) Accept IAEA conditions on the

Fast Breeder Reactors.

The two principles governing the
reduction of trade barriers under the

WTO are :

(A) Non-reciprocity and non-
discrimination

(B) Non-discrimination and
reciprocity

(C) Reciprocity and discrimination

(D) Non-reciprocity and discri-

mination

74.

75.
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T eTdsh] IOl & ARa-STHERT
STUHIRTE AT 9N A ?

(A) 3TUTE FIUITET HRIHH s hHiol
ST AR SUSell AFN

IEECRERNGRGIEECTU R

(B) g% YURSE] HINeR HEl hed

HRAT= 3TfUSeh hiish AT SrFqufd

STy
(C) AUV AR ST ok o9

(oY

FHIOT FEA AT ST HSHT

STARTSSTT AT ST ATIIT=AT
(D) TR el STUWEER ST
STl ST ey AT .

STTfdeh SR o=l SR STS9D

T HIOAITA=] S dxd hIot 2

~ e

(A) TIEgY geAifira=r s1ura errfur

dETaTe AT
(B) ¥EET=l 31919 ST TR TR
(C) WER TNl 7o dgura

~ e

(D) 9Ty geAifra=r s1ura errfur
Ty
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ROUGH WORK
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